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A tr:i_i_n approaches a mountain at a speed of 75 km/hr. The train's engineer sounds a
whistle that emits a frequency of 420 Hz. What will be the frequency of the echo that the

cnginéér hears reflected off the m(_mnlailn? (The speed of sound in air = 343 m/s)
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3 Two spéake;s are drivén by a common oscillator and face each other at a distance of
1.500 m. A man is standing at 0.700 m from one of the speakers along the line joining the

two speakers. What is the highest frequency of the oscillator, within the audible range
(20.0 Hz to 20.0 kHz), so that the man hears a minimum sound? (Speed of sound = 343
m/s).
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: Coﬁsidér a pipe closed at on end. Two successive ﬁ'ccj._t_lch.;ies of the pipe, filled by air,

are 500 Hz and 700 Hz. What is the length of the pipe? [speed of sound in air = 340 m/s].
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